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Munexc MEKIUCLUIIMHAPHEIX KypCOB o) = S = Jaa) O A S & 5 é 5 = 4 =
1 2 3 4 5 6 7 8 10/ 11 13 15 16 17 18 19
oon OBIIEOBPA3OBATEJIbHBIN UK 3 8 2 1452 0 1452 1300 1192 0 0 0 440 739 233 40
OBJ] Ba3oBble JUCHHILTHHBI 1 7 873 0 873 1012 901 0 0 270 438 125 40
OBJ1.01 Pyccxkuii si3p1x 2 72 72 42 30 34 38
OBJ1.02 Jlutepatypa 2 108 108 23 85 34 74
OBJ1.03 VIHOCTpAHHBII SI3bIK 2 106 106 24 82 34 72
OB/1.04 Hcropust 2 136 136 130 6 51 48 37
OBJ1.05 OO11ecTBO3HAHUE 2 72 72 50 22 34 38
OBJ1.06 Xumus 3 72 72 52 20 24 48
OB/.07 Okonorust 2 39 39 24 15 15 24
OB/1.08 T'eorpadust 2 72 72 35 37 48 24
OcHOBBI 0€30IACHOCTH KU3HEICATEIBHOCTH H 2 44 24 68
OB]1.09 3aIUTE POguHbI 68 68
OB/1.10 Duzuyeckas KylbTypa 128 128 18 110 72 16 40
OIIH Hpo(l)pu‘n,].[],]e JTUCITHTIIMHBI 2 1 520 0 520 285 235 0 170 242 108 0
OI11.01 MaremaTnka 3 232 232 137 95 68 84 80
OI1/1.02 Ddusnka 3 180 180 120 60 68 84 28
OI1/1.03 Wudpopmatnka 2 108 108 28 80 34 74
T100 Ipeutaraemsie OO 0 0 59 0 59 3 56 0 0 59 0 0
1100.01 OCHOBBI IIPOEKTHOI! AESATEILHOCTH 59 59 3 56 59
0 0 0
0 0 0
CT.00 ConuajbHO-TYMAHATAPHBINA IHKJI 0 5 174 0 174 0 0 0 138 0 0 36
CI.o1 Vcropust Poccun 1 34 34 34
WHocTpanHbIf  A3BIK B TIpodecCHOHANbHOM 1 34
Cr.o2
JIeSITEIIbHOCTH 34 34
CI'.03 Be30MacHOCTh KU3HEAECSTENLHOCTH 1 36 36 36
CI.04 DuzuyecKas KylbTypa 4 36 36 36
Cr.05 OCHOBBI O6epeKINBOTO MPOU3BOJACTBA 1 34 34 34
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Munexc MEKIUCLUIIMHAPHEIX KypCOB o) = S = Jaa) O A S & 5 é 5 = 4 =
1 2 3 4 5 6 7 8 10| 11 13 14 15 16 17 18 19
OII OBIIENPO®ECCUOHAJBHBIN UK 0 3 0 192 0 0 192 148 44 0 0 0 34 107 51 0
OI1.01 MarepuajnoBeieHue 3 51 51 39 12 34 17
OI1.02 DIEKTPOTEXHHKA 3 90 90 70 20 34 39 17
OI1.03 Oxpana Tpysa 3 51 51 39 12 34 17
0 0 0
0 0 0
TIIY MPOPECCHOHAJBHBIN UK 4 6 0 1038 504 4 1034 808 150 354 0 0 0 0 322 712
TIM.00 IMPO®ECCUOHAJIBHBIE MOYJIU 1038 504 4 1034 808 150 354 0 0 0 0 322 712
M.o1 BrImonHeHne pernaMeHTHIX paboT mo 1 4
OJUICPKAHUIO ABTOTPAHCIIOPTHBIX CPEJICTB B 495 190 4 491 388 70 120 0 0 0 0 246 245
HCIIPaBHOM COCTOSHHI
MJIK.01.01 [YcTpoiicTBO aBTOTPaHCIIOPTHBIX CPEICTB 4K3 69 40 30 40 34 35
69
M/IK.01.02 |Texuuueckoe oOCITy)KHBaHHE aBTOTPAHCIIOPTHBIX 4K3 104 30 4 70 30 34 66
CpencTB 100
MJIK.01.03 (IIpeamponakHasi HOATOTOBKA aBTOTPAHCIOPTHBIX 3 34 34
CpesCcTB 34
VILOI VueOHas npakTHKa 3 144 84 144 144 84 144
II1.01 [pou3BOICTBEHHAS TIPAKTHKA 4 144 36 144 144 36 144
DK3aMeH 4 0
1M.02 PeMOHT MEXaHMYECKUX CHCTEM M YCTaHOBKA 3 2
JAOTIONHHTENEHOr0 000pyAOBAHMS Ha 543 314 0 543 420 80 234 0 0 0 0 76 467
ABTOTPAHCIIOPTHBIE CPECTBA
M/IK.02.01 4K1 112 50 62 50 42 70
JII/IaI"HOCTI/IKa ABTOTPAHCIOPTHBIX CPEJICTB 112
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1 2 3 4 5 6 7 8 10| 11 13 14 15 16 17 18 19
M/IK.02.02 [PeMOHT aBTOTPAaHCIOPTHBIX CPEICTB 4K1 95 30 70 30 34 61
95
M/IK.02.03 |YcraHOBKa IOMONHUTEIBLHOTO 000PYIOBAHHS 48 48
48
VIL02 VueOHas mpakTUKa 4K2 144 198 144 144 198 144
I111.02 IIpou3BOACTBEHHAS IIPAKTHKA 4K2 144 36 144 144 36 144
OK3aMeH 4
HUTOT'O 7 22 2 2856 504 4 2852 2256 1386 354 0 0 612 846 606 788
CamocTosiTenbHas pabota 4 4
Koncynpranuu 24 24
TIpomexyTouHas aTTecTanus 36 18 6 12
36 36
TocymapcTBeHHast HTOroBast aTTecTarus ¢ popMe IeMOHCTPAIHOHHOTO dK3aMeHa
O6muii 06beM 06pa3oBaTeIbLHOIN MPOrPAMMBI 2952 2852 2256 1386 354 0 0 612 864 612 864
1 kypc 2 Kype
Beero 4acos: 1 cem 2cem 3 cem 4 cem
Jucnummns 1 MK 2020 474 846 428 272
yii 288 0 0 144 144
il 288 0 0 0 288
JK3aMEHOB 6 3 1 2
Jud. 3aueron (6e3 yuera 4 6 6 4
Gu3KyJILTYpBI) 20
3aueroB(0e3 yuera
HH/.NPOeKTan Gpu3nvecKoi
KYJILTYPbI) 0




